- > % - .
% % %
M7 .
@ E E $=1:250
{ﬁ
w
a5/ TIRK ¥
TR L=50.0m
22— FAR#E L=52. Im
ARk N=6LE
L=11.2m
x
o g <
3 g E J
. < E E E
x
A
%
@ KBM. 2% ECoti
H=1
X
& o IB-3(KBN.1
A H=11.2
\ﬂw/
x
x
[ XElg | Vil | &s |
99637. 654 102853. 643 10.719
99660. 516 102803. 307 10.613
L, RKSME x
H/TIX
R2Ft 28 F# - RE
< I#4 FNTH (1)
BHE 2a0
TR TR /T (5 158D
173 TEE
R 1:250 [E] | & %[ 1 7 6
244
K % % 4,
2 % o % % | sxEs MERARRBRLERE (BT




T AREEMT E

s
HS=1:250 a5/ TIR
VS=1:100

NO. 143

20.00
— N BIER L50.0n R
— avp Y= bR =52 In
RSl Nty
— L=11.2n
— o o i 2647
o o
4 K 4 o 500, 1000 700
N E E E E
10.00
EPVDE!
ok 18N
] . B SEREEOEE
&
_ 2,138 g A
6.878 = O | sszm
— g g d .
- = -
o 9
— BEAE E X
0.00
1250 ]
DL=-5.00 DL=0. 00
’ BREAKDE ‘ ’ g : ‘
T T T T T T T T
’ﬁ B %‘ ’ 3 3 2 2 = ‘
T T T T T T T T
[ - g 8 8 5 g g g 8
’E S E,‘ ’ : : : : : :F ‘
T T T T T T T T
S 2 5 3 5 3 ] 2
’m % ‘,g,-‘ ’ b S o P o P P =
T T T T T T T T
g g g g g g g g
’5& m B S’é‘ ’ s E g s g g oz = ‘
T T T T T T T T
’ g g g g g g g g
8 8 8 g g g g g
Ll Eﬁ‘ ’ E E E E B B < © ‘
T T T = T == = T
’iﬁ'l ‘ ’ o 2 - £ o 5z - ‘
] El ] El El E E El
T T T T T T T T
1P
L= 10.000 1A=38-22-15 4. 200 L= 5.800
::: N = ﬁ Rl= -66.000 SL= 3881 ﬁ
TL= 22.965 ) TIR
R2Ft 28 F# - RE
%% FITF (1)
BRE% 28
)
- prym THEH PR /T (5158
BRARE HE% U7 - BAITEE
BRAROFES
EHAES R =g [@E#%[ 2 7 6
2%
FEEE MERARRBRLEMES I




NO.O
GH=6.072
FH=6. 930

5w | mm® wE
W H ED) -
% %+ T (REEET)
) ED) 22
E = ToSH<a0n| 5
EEEE ED) 0.45
4504
2647 e 1857
FH=6.930
E
E ws o
2 SE{fiE (5.530) 1 \,in
DL=0. 000
NO. 0+10. 000
GH=6. 095
FH=6. 982
% 2w | mw® W E
M = -
% %+ T (REEET)
) ED) 2.1
};’9)} E = Tosi<aon| 15
EEEE ED) 0.45
4621
FH=6 982
&
& FE{fiE (5.582)
El
DL=0. 000

# B B (1) s=1:100

.u
a5/ TIR
NO. 1
GH=6.197
FH=7.034
& m_ | m# wE
I = B
# %+ T GREEED
] ) 7
B R TosW<aon| 3
EREE ) 0.45
5391
2647 2143
FH:-J 034 . apsm
d 3 ¢ e o
7 R OETE (5. 634) g el
: \%/
DL=0. 000
NO. 1+10. 000
GH=6. 265
FH=7.086
5 m_ | m#® EES
# M =) 0.2
# %+ T GREEED
] ) 26
M 2 = EERCIE
EREE ) 0.45
4953
2647 2306
= o
K \ -
IR DEFEE (5. 686) gl - | 7
E ¢ /
DL=0. 000
H/TIX
R2Ft 28 F# - RE
%% FIITH (1)
BIREY ol
TR PR /(6198
HE% R (1-2)
R 1:100 [E | & %[ 3 7 6
2%
FRES MERARRBRLEMES I




NO. 2
GH=6. 107
FH=7. 138

>

4196

2647 1549

2400

(5.738)

5w | mm® wE
w_Hl E) 0.1

* % T T GRREAT)
w ) 25
2 = T0SW<4.On | 16
EWEE ) 045

1#

B B (2) s=1:100

£/ TFIK

NO. 2+14. 200

GH=6. 229
FH=0.000

DL=0. 000

NO. 2+10. 000

DL=0. 000

NO.3
GH=6. 158
FH=0.000

& (5.790)

DL=0. 000

DL=0. 000

H/TIX
5% R R
BEs s
THEm B EERTE /T (5148
HEE HHE (2-2)
R 1:100 [IZ‘ | & %[ 4 7 6
2its

MHRERREBRIZME (FIM)




400

1. OmiS [

he

SR
R

p %

BRI
SRRRL

GRIPIIRIR

SRR

QBRI

RERERIRRRIILS
%

RS
e,
KRS
SRR

¢ 1600%2fE

L

VY — MER#E ssi0
447 500 1000 700
avpy—tigw
o ck=18N/mm]
~
o 5
E s
g
= /0
g o
avy ) — HE#E 1.0m%Yy
# O % 8
avyy—+r g ck=18N/mm2 1.473  m3
B —HE 2.683  m2
Bt 1=10mm 0.147_m2
4%
BSRNEERHE s-1:0

#E K

£/ TFIK

B B

1100
40

TS L=50.0n

LA

a2 —biREE 152 1m

NO.0-10.0

6.878

J

10.00 10.73 10.74 10,65
N=6%%
E E P E
4 E & _ E: 3 N
E E E E E E 213 8
6.930 6.982 1.034 7.086.
g g g g
g N
§ § § § §

E/TIR
I8 T i
wHEs wan
T B EERTE /T (5148
mEs wiam
R R [EJ \ & %[ 5 /6
2ita

MHRERREBRIZME (FIM)




RIEYIKER HEMTE

BRTEBE s-1:250

TR 1=50.0n

AR#ET  1=50.0m

N0.0-10.0

{EiKEE =67 0n

NO.2

LKEE L=66.0m

FIBY K AN e
HHE o6 &
OB g 8 8 3 % 2 z ‘
8 8 8 2
’ B = ‘ ’ Z o z - 2 o % ‘
El 2 El 2 2 2 2

ER)
-FIEYKBOKBBEHERE, REARBET 5,

REEEME  s-1:50
No. 1443

g UR#T
= HEHILRE
=500
947
#/FIR
I%% R szﬂllj%%ll ( Wﬂi)lﬁ (R
BHRE% EHN
THER FmMhREAE /T (F198)
e fREEHEE
HER BR [@ \ & %[ 6 ~ 6
SHE
FREL MHRERREBRIZME (FIM)




